Grand Test : CHSL-CHT1: 180229
SSC CHSL - CHT1 : 180229 GRAND TEST

HINTS AND SOLUTIONS

1 1| 26 (2) 51 @4 | 76 1)
2 2) | 27 (3) 52 ) | 77 @)
3 3) | 28 (2) 53 2 | 78 @)
4 31 29 @) 54 31 79 @)
5 3) 1 30 @) 55 (1) | 8o 1)
6 3) | A 4) 56 2) | 81 (3)
7 @ 1 32 (2) 57 1 | 8 @)
8 1 | 33 1) 58 (1 | 83 1)
9 2 | 34 (2) 59 @4 | 84 (3)
10 ] (1) | 3b (3) 60 3) | 8 @)
111 ) | 36 1) 61 3) | 86 (2)
12 ] (1) | 37 (2) 62 3) | 87 @)
131 (2) | 38 @) 63 3) | 88 1)
141 @) | 39 @) 64 3) | 89 3)
151 (4) | 40 @) 65 (2) | 9 3)
16 | (4) | 4 1) 66 2 | 91 1)
17 | (2) | 42 (3) 67 3) | 92 4)
18 | (4) | 43 1) 68 @) 1 93 @)
191 (2) | 4 1) 69 1| 94 (1)
20| (2) | 45 1) 70 2| %5 (2)
21 | (3) | 46 3) 71 1) | 96 (2)
22 | (1) | 47 3) 72 3) | 97 @)
23 | (1) | 48 1) 73 (2) | 98 (2)
24 | @) | 49 (3) 74 L1 9 @)
251 (2) | 50 3) 75 @) |1 100 (2
1. (1) (6)*=36:(6)° =216
Similarly, (9)° =81(9)* = 729
2. (2 MNCO PORS
1234 1234
NCOM ORSP
2341 2341
3. (3) Reasoningisthe action or process of using one’s ability
to think, form opinions. Reasoning is a mental exercise.
Cane (Verb) means to punish by beating with a cane
performed physically.
4. (3)
5. (3) F—2 yh_2 j 2 1
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RACK
K +3 n +2 p +2 R

C +2 e +2 g +2 I

Except Anil Kapoor, others are from the same family
group.

256 is the only number for which cube root is not
possible.

Goa is a State of Union of India. All others are capital
cities of States.

Rajasthan — Jaipur

Tamil Nadu — Chennai

Mizoram — Aizawal

198 + (2)2 = 202

202 + (3)?=211

211 + (4)>= 227

227 + (5)2=

12 24 72 88 1440
\2/’\_3/' - \5/’

Crows come under the class Aves. Cow is a mammal.

Mammal

Suppose the present age of Arun is 4x years and that
of Deepak is 3x years.

6 years hence, Arun’s age = 4x + 6 = 26
=4x=26-6

="
.. Present age of Deepak = 3x = 15 years
52314

Anywritten piece is recognized as song when it issung
by a singer. Therefore, only Conclusion I follows.
There isno ‘U’ letter in the given word.
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(2) After changing the signs, we have
52 -8x6+2
16+12+6x3-18 16+6-18 4 4

235 = (2)2 +(3)> +(5)*> =38
452 = (4)? +(5)? +(2)* =45
345 = (3)% +(4)? + (5)% =[50]

(4)
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_52-8x3 _52-24 28 _,

512

83:83=512:T=256

42:42=16:?=8

216

63= 6° =216:T=108.

First Column

Second Column

Third Column

5-4=1and(1)*=1
7-3=4and (4)3 = 64

8-2=6and (6)°= [216]

a[b] cas[a] beara[b] b[c] /a[a] bbre[c]

i
C

89, 33,57, 43
F A E

4 4
Volume of the sphere = Eﬂfs =§7t cu.cm

Volume of wire = ;r2h =100 72 cu. Cm

4
-~ 100 py2 =

=T
3

52.

53.

54.

56.

57.

58.

e 41
300 75

Sr= i =0.11cm
\J75

SSCCHSL : TIER-1

V36 —24 +\24 16 /5—4 _12_1
@) \/ 5++/9 - 5+\/§_\/;_2

(2) S.P. of 250 chairs — C.P. of 250 chairs

= S.P. of 50 chairs

= S.P. of 200 chairs = C.P. of 250 chairs

.. Percentage profit =

250-200
200

x100 = 25%

(3) /19.36 ++/0.1936 ++/0.001936 ++/0.00001936
= 4.4+ 0.44 + 0.044 + 0.0044 = 4.8884

D C

(1)

E
Here AC2 = 2AB?

As AABE and AABC are equiangular.

= AABE ~ AABC
.. Required ratio

_area of (AABE) AB?

AB* 1

~area of (AACF) AC? 2AB? 2

2
1
.. Square of the ratio = (Ej

(2) Let the price be 100

100 140 126 113.40

+40% -10% ~10%

So, increase in price = 13.4%

(1) 60% of (x —y) = 40% of (x +y)

50 30
= 200X N =100 * Y
=5(x-y)=3(x+y)
= 2x =10y = x =5y
.. Required percentage

X Sy
(1) Ram’ expenditure = Rs. 3 X

Savings = Rs. 2x

:[lxlooj% =[lxlooj% —20%
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RACK
5xx110 11x
New income = —Rs.—— ) Va-23 Ja+2\3
100 2 + 5 >
e onditure = 22 g 336X V3
xpenditure = — -~ 100 5
11x 336x 550x —336x —1-+/3-
Savings= —/—— = =Rs.214x :4+\/§ 1 \/§ 1:i
2 100 100 NG NG
214x 14x
Increase in savings = —2X=— V1+x V1-x ’ 2V 4
100 100 4 B Ry
y 1414 x  1-1-x V3) 3
X
. Percentage increase = - - x100 ="7% 62. (3) C.P.ofthearticle = Rs. 100 and market price = Rs. x
D xid 117 = x =220 130 _ 3096 apove C.P.
59. (4) If the principal be Rs. P, then S.1 = — 100
9 63. (3) (x+Yy)>=4xy
S.1x100 = X2+ y? +2xy - 4xy = 0

If rate = r% then Rate = =>(x-y?=0=>x=y

Principalx Time
64. (3) x2+y?+z2%=xy+yz+2x

_1x100 5, » 100
S =9 =100 =r T 9 = 2x% +2y% +22° —2xy—2yz—2zx =0
VY I VY Sy
Rz%%’%% = X-y) +(y-2)"+(z-x)" =0

=>X-y=0=>x=y
60. (3) Originally, let the number of boys and girls in the

college be 7x and 8x respectively. Their increased y-z=0=y=z
numbers are (120% of 7x) and (110% of 8Xx). z-x=0=z=x
. (125 115 . 875X 920x CAX+2y-3z  4+2-3 3
ie.| —x7x|and | =—x8x | ie. —— and —. S = =

100 100 5 5 2x 2 2
.. Required ratio = 875 : 920 = 175 : 184, 240% 48

| 65. (2) TotalC.P = “—— = =Rs.960

. 3
61. (3) Given X :£
2 . 960x125
S.P. for a gain of 25% =———— = Rs.1200.
J Fox o J -

then, X IoviEx | Vi7X | ItViZX Amount received on half of bananas at Rs. 5 per

1+V1+x 1-41+4x 1-41-x 1+/1-x banana =120 x 5=Rs. 600

/ / 5

_ VX -1-x  V1-X+1-X Remaining bananas = 120X€=100

1-1-x 1-1+x

S.P. of these 100 bananas = Rs. 600

_Vl-x+1-x Jl+x-1-x . Rate = Rs. 6 per banana.
B X X 66. (2) Letthe base of triangle be decreased by x%.

ATQ,
~VI-X+1-X—~vI+ X +1+X

20-x - 2% 0 x+ X 220 8% _ 20
100 5 5

X
L 3 3
A N2 50 2
_2+\/1—x—\/1+x_2Jr 1= 2X=?=16§%
x 5

2
2 . Required percentage = 165%.
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2
67. (3) 18000><(1><lj ~18000 —(szms 71,
: 100 100

2

= 18000 1+— —1—E =135
100 100

= 18000

(100 + R)? —10000 — 200R _135
10000

135x5

= R%= =75= R =8.66%

R
Btz

(3-V2)(3-V2)
(V3+42)(3++2)

68. (4)
=@=3+2—2ﬁ.\/§=5—zﬁ

B,
BN Al

.'.x+y:5—2\/6+5+2\/6:10

xy = (5-21/6)(5+2/6) = 25—24 =1

s y3 =(X+ y)3 =3xy(x+Yy) = (10)3 -3(10)

=1000 - 30 = 970.
69. (1) x=rcos0.cosd
y =rc0s6.sin ¢

zZ=rsin®

s x?+y? +2% =r?cos? 0.cos? ¢+ r? cos? 0.sin? ¢+ r?sin? 0

=r2 cos® B(cos? ¢ +sin® 0) +r? sin? O
=r2cos?0+r?sin?@

=r?(cos® 0 +sin? 0) =r?

70. (2)

AMB
N

. Z/BAC = ~/BDC =20° (onsame are BC)
ZADB =90° (Angle of semi — circle )

72.

73.

74.

75.

1)

®)
()

)

(4)

SSCCHSL : TIER-1

Area of ABDF 1

Area of hexagon 2
.. Area of hexagon = 6 x area of equilateral triangle

=6><§><22 = 6+/3 cm?
- Area of ABDE =3v3 cm? =5.2 cm?.

x100 =18.75

. 380-320
Per cent increase = T

Total production :

Wheat = 3700 million tonnes

Rice = 2000 million tonnes
Barley = 1800 million tonnes

Other cereasl = 2400 million tonnes

_ 3700 ——x100=37.4

9900

160
Percentage increase : Rice = mxloo =40

190
= —x100=38
Cereals 500 X

2000 1800

Required difference = & 5 400-360 =40

million tonnes.



